11.

13.

15.

17.

19.
21.
23.

Y NN WL =

(@)
(@
(@
(@)
(@)
(@)

(@
(@
(@
()

sin0=0

sin(—7) =0

i T
sm2—

T
COSZ——

i

1
0

Im _ 1
CoS 3 = 3

To_
COSa—
T
tan6—

117

1w _ i g
sec =3~ = sec 3 = 2

CO 7,
sm4—

tan(—-%)

t=0 =

t=m1m =

1

Sk "
w

“[&

inf =1
s V2

4

-1

NG
2

(b)
(®)
(b)
(b)
(b)
(b)

(b
)
(®
(b)

cos0 =
cos(—m) = —1
sm%ﬂ = -1
cos I =
sec73—7r =2
cos(~5) = §

Ty 1 3
tan(—§) = I A
cse W =csc ¥ = —~\;~§ = —243@
csc = cscT = /2
cot(-—%) =-1

sint = 0,cost =1, tant = 0, sect = 1, csct and cot ¢ are undefined.

sint =0,cost = —1,tant = 0, sect = —1, csct and cot ¢ are undefined.
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